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Row 1: 42 chains

Row 2: skip 5chs, *[dc, 2chs,dc
(both dc are worked in the
same st), skip 2 st]* rep ** 13
times.

Row 3: *[2chs, dc, 6tc, dc, 2chs,
sl st in the next space]* rep ** 5
times. *[2chs, 5dc, 2chs, sl st in
the next space]* rep ** 8 times.
Join with sl st.

Now we have 5 large petals and
8 smaller petal.

You roll the strip, start from
the small petals. One you
finished rolling the strip, turn it
around and sew the botton
until its fixed.

Row 1: 9chs

Row 2: skip 1chs, sc, hdc, dc, 2tc,
dc, hdc, 3sc in the same st, - work
OTHER SIDE - hdc, dc, 2tc, dc, 2sc.
Row 3: work sc in each st: 9sc, 2ch
picot, 8sc and finish with a sl st.

Row 1: 15chs

Row 2: skip 1chs, 2hdc in each st.
Row 3: *[ch, skip st, 5dc in the
same st, skip st, sl st]* rep all
round.

Roll the strip, turn it around and
sew the botton until its fixed.




